
Algebra 3 Assignment # 7 
Radical Equations 

 

 Solve for x please. 

 

  (1)  2x    3  x =+  

 

 

  (2)  6x   1    2x    1 + = +  

 

 

  (3)  3x    5    1  x5 =++  

 

 

  (4)  
32x    2     x    1 + = +  

 

 

  (5)  6x  +  1  =  3  2x−  

 

 

  (6)  
22x  +  7   =  2x  1−  

 

 

  (7)  
3 2x  x  +  5  =  x  +  1−  

 

 

  (8)  3 9x  +  9   =  x  +  1 

 

 

  (9)  x  +  3  +  5x  1  =  4−  

 

 

(10)  2x  +  3  +  6x  +  1  =  4  

 

 

 

 

 

 

 

 



Algebra 3 Assignment # 7 
Answers 

 

 

  (1)  1  ( ) reject   
4
3−  

 

 

  (2)  0 , 
2
1  

 

 

  (3)  3  ( reject 8
9
 ) 

 

 

  (4)  −1 , 1 , 
2
1  

 

 

  (5)  
2
1   ( reject 4 ) 

 

 

  (6)  3  ( reject −1 ) 

 

 

  (7)  ( )2 , 2   reject 2−  

 

 

  (8)  −4 , −1 , 2 

 

 

  (9)  1  ( reject 13 ) 

 

 

(10)  ( )331
2 2
  reject  

 

 

 


